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At the current moment in SpdRoot, GenFit2 uses the exact knowledge about
track PDG from MC during fitting procedure.

How the wrong PDG will affect the result of the fit?
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inline Bool t SpdTrackFitPar::GetIsGood() const
if (TfErrorFlag '= @) return false;

if (HasErrorMesg()) return false;

J/if (THFailedHits = @) return false;

if [fConvergencyGF != 1| return false;
return true;
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inline Bool t SpdTrackFitPar::GetIsGood() const

if (fErrorFlag '= @) return false;

if (HasErrorMesg()| return false;

J/if [fNFailedHits = @) return false;
it (fConvergencyGF '= 1| return false;
return true;
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inline Bool t SpdTrackFitPar:

const

return false;
return false;
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inline Bool t SpdTrackFitPar::GetIsGood

const

if (fErrorFlag '= @) return false;

if (HasErrorMesg()| return false;

J/if [fNFailedHits = @) return false;
it (fConvergencyGF '= 1| return false;
return true;
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inline Bool t SpdTrackFitPar::GetIsGood() const

if (fErrorFlag '= @) return false;
if (HasErrorMesg()| return false;
J/if [fNFailedHits = @) return false;
: if [fConvergencyGF '= 1) return false;
AT AT AU RN AT AT A return true;

0
o 05 1 15 2 25 3 35 0o 05 1 15 2 25 3 35
p,. GeV p,. Gev

13



x>/ndf
o

.......... . electron as Clc'cmn

25_ .................. .............

electron muon

.................. O muon as CICCII'OIT
: : : B muon as muon
/% muon as pion

[J electron as muon
/4 electron as pion

> muon as kaon
oF Muon as proton

5 electron as kaon
op electron as proton

0 05 ) 15 2 25 3 35

Illllwolllll

)

p,. GeV
proton

.......... b () KON A8 leetrppy i L % ‘ ‘ : : : ;
D k P A O proton as Clcctmn ................................
: : a0n as muon : r
Ak . r [] proton as muon
aon as pion C .
................................................ —~ A roton as pion
v kaon as kaon e e e P P FE S USSP
ok e : : : ¢» proton as kaon
aon as proton r 5 5 5
: prol C 0@ é é é #+ proton as proton

0
0 05

1 1.5 2 2.5 3 3.5
p,. GeV

......................................................................... O piﬂn as C]CC[I‘OH
[] pion as muon
A pion as pion

< pion as kaon
oF pion as proton

0 05 1 1.5 2 25 3 3.5

p,. GeV

inline Bool t SpdTrackFitPar::GetIsGood() const

if (fErrorFlag '= @) return false;

if (HasErrorMesg()| return false;

J/if [fNFailedHits = @) return false;
if [fConvergencyGF '= 1) return false;
return true;
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SpdTrackFitPar

inline Bool t SpdTrackFitPar::GetIsFittedOk() const

v & spddata it (fErrorFlag '= @) return false;
» W hits if (!fFirstState) return false;
> o IdealTrackData if [ !fLastState) return false;
return true;

» HM mcdata
> WM params
~ W reco ff = e e e e e
inline Bool t SpdTrackFitPar::GetIsGoed(] const
> M ecal
> ol kFdata if (fErrorFlag '= @) return false;
if (HasErrorMesg() ' return false;
> M rs //if (fNFailedHits > @) return false;
> ol tof if [(fConvergencyGF '= 1) return false;
'l vl return true;
C+ SpdTrackFitPar.cxx
h spdTrackFitPar.h "_"""f""""""""""_ """"""""""" B
inline Bool t SpdTrackFitPar::GetIsAcceptable() const
C~ SpdTrackMC.cxx
|-| SpdTrackMC.h if (fErrorFlag '= @) return false;

if [HasErrorMesg()) return false;
J/1iT (TNFailedHits = @) return false;
if (fMDF = 3 return false;

if (GetChiZoverNDFi() =< 2) return true;
return false;
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